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"1o-ta*ion 
of A and B is $0pffi and betweeffind C is 500mm. The masses AGC are atriglrt

i) The angle of masses B and D from A
distance p.gtween planes of rdtat'ion ACGD iii) Magnitude of mass B.

--Y -,,5 ;. 
(2oMarks)

u -. -;T L**. *,m',";a ' *."u,p !''rs'
The cranl€s {pd connecting rod o$d 4 cylinder incline engine ruqning at 1800rpm are 50mm,
250mm eac6 respectively andthe cylinders are spaced l50mm apart. If the cylinders are
numberedlto4in
end view in order 1

secondary couple-Swi
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Determine: i) U primary and secondary forces. If any ii) Unbalanced primary and

from one end and the cranks appear at intervals of 90o in an
reciprocating max corresponding to each cylinder is 1.5kg.

th reference to central plane of engine.
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(20 Marks)
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ffifl governor.

18MR42

(08 Marks)7a.
b.

Module-4
Explain the terms sensitiveness, stability, effort and

10 Draw the

2 of2

ii) Hdlkter to dwell for the nex€*,-60'.

iiD mmpUower to return to its i+itid'position during
iv) ffilo*rr to dwell for thffinaining 90" oflv) FWllower to dwell for thffioaining 90" of ffiryffitniform speed of 500rpm in clock

wise. Radius of cantr40rnm and line of strffi.ffie follower u*rifBet l5mm from the

a:ris of the cam an*fftmlacement of the ffikffi. is to take pkk#with uniform of equal
acceleration andr,el,hrdation both the inwardlhnd return stroke.' #'acceleration and4Xffidation both the ipwafr,tlyand return stroke. *d

Determine I - The mffidal acceleration*ffi.f'outward and.ptu*h stroke. (2oMarks)
{ffi ry4,gry'\ ;' ., '\"

*..d.. l}'lD' * ,mF
;&

s 'OR' -*SS'
for cam wi$idlter reciprocating pl$wer. Then axis of the follower
rof cam. \a*# d\"

8a.
b.

The length of upper arm and lower arms of a are 200mm and 250mm
respectively. Both the arms are pivoted to the axis ion. The central load is 150N, the

weight of each ball is 20N and the of the s with the resistance of the operating
gear is equivalent to a force of 30 N at the If the limiting inclinations of the upper
arm to the vertical are 30o and 40", determinq"

Derive an expression for the
The motor of a marine having a

1550rpm clockwise when
effect on ship in following:
i) When ship pitches a

ii) When ship is
iil) When ship ro

from stern.

9 Draw the follower from the following data:

r) Fo of 20mm during -120".

passes througlrffie axis of cam. xi d\"

Roller dihgr6ter : 5mrn, miniciiilrn radius of car4.=$(i"mm and total lift = 25mm. The cam
has Boffithe follower *lffiWfU during lS0&ffitanL then allow the foltower to drop
sudffi'naf way andffi$ffir return ,'t-t futto*er with uniform velocity during thesudffi half way andffi{t*fler return thp fellower with uniform velocity during the

permining 180' of cdiffittation. Deterrfrine the maximum velocity and maximum

q&eleration on the*qrtsti6ke. If cars rotates at a uniform speed of 100rpm. (20 Marks)
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